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Span 0 Hz
Sweep 1.000 s (1001 pts)

Number of Pulses in worst case 100 ms
Each set of pulses has 4 smaller pulses.
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IFGain:High #Atten: 0 dB

AMkr1 2.160 ms
10 gBrdw Ref 86.99 dBpV 0.66 dB

Center 2405000000 GHz Span 0 Hz
Res BW (CISPR) 1 MHz #VBW 3.0 MHz Sweep 30.00 ms (1001 pts)

STATUS

Time of each individual pulse is 2.160 ms
The worst case 100 ms has 3 sets of 4 pulses for a total of 12 pulses.
Total On Time = 2.160 ms*3*4 = 25.92 ms

Total Duty Cycle =25.92 ms / 100 ms = 25.92%
Peak to Average Ratio =-11.72 dB



